
Stem and Leaf Diagrams
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1 Here are the heights, in cm, of 20 sunflower plants.

54, 93, 56, 34, 49, 29, 93, 37, 20, 9,

50, 13, 23, 36, 83, 22, 39, 99, 82, 49

1(a) Complete the ordered stem and leaf diagram below to represent this information.

[3 marks]

Chloe says: 

“To work out the median, you add together all the numbers, and divide that by how 

many numbers there are.”

1(b) Is she correct? Explain your answer.

[1 mark]

Turn over for next question

Turn over ►

4

0 9

1 3
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4
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2 Students in a year 8 class took a Science test. 

The stem and leaf diagram below shows the results.

2(a) How many pupils are in the class?

[1 mark]

Answer

2(b) Find the modal mark.

[1 mark]

Answer

2(c) Find the median mark.

[1 mark]

Answer

Turn over for next question

Turn over ►

2 5 6 6 7

3 2 3 3 3 5

4 0 2 6 6 8 9

5 5 7 8 9 9

6 3 5 5 7 8

7 0 0 1 5

8 4 7

Key:

means 25 marks2 5

3
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3 The stem and leaf diagram below shows the scores of 24 students in a competition.

3(a) Find the median score.

[1 mark]

Answer

3(b) Find the range of scores.

[1 mark]

Answer

3(c) What percentage of the students scored 60 or less?

[2 marks]

Answer

Turn over for next question

Turn over ►

4 2 2 5

5 1 2

6 0 2 5 6 8 9

7 3 4 4 9 9

8 4 5 5

9 3 8 9

10 3 5

4

Key:

means 42 marks4 2
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4 Pupils in a PE lesson were timed to see how fast they could run 100 m.

The times, in seconds, are shown below.

21, 23, 22.5, 20.7, 19.8, 21.7, 21, 21.3, 20.6, 19.3,

20.8, 17.5, 18.4, 17.4, 22.1, 22, 21.1, 18.2, 16.4, 19.8

4(a) Draw an ordered stem and leaf diagram to represent this information.

Include a key with your diagram. 

[3 marks]

4(b) Find the median time.

[1 mark]

Answer

4(c) Afterwards, it was discovered that the time 19.9 seconds had been missed off the 

original list of data. 

If this piece of data had been included, what effect would it have on the median from 

part (a)? 

Circle the correct statement.

[1 mark]

The median would decrease. The median would increase

The median would stay the same The median would decrease by 1

Turn over for next question

Turn over ►

5
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5 The time taken, in minutes, for 20 pupils to get to school was recorded. 

A student was asked to draw an ordered stem and leaf diagram for the data, which is shown 

below.

The student has not drawn the stem and leaf diagram correctly. 

Identify three mistakes the student has made. 

[3 marks]

Turn over for next question 

Turn over ►

3

0 5 6 6 7

1 1 3 5 8 9

2 0 0 0 1 4 3 5

3 7 8

4

5 5
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6 The ages of men and women at a bowling club were recorded, and the results are 

shown below. 

Compare the distributions of the ages of men and women.

[3 marks]

End of Questions

END

3

men

3 1 5 8 9

4 2 2 4

5 3 1

6 2

women

3 4 5

4 5 6 7

5 7 9 9

6 0 2 4

7 2 3

Key:

means 31 years3 1
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